A csoport

2. /2% —y, Gradient is Vv a?—y

3. arctan (z — 2y), Gradient is (@=2y)"+1
2
T (@2’ +1
S — (2x — 4y) - (42 — 8y)
2
Hessian is (@-20)°+1) ((z—2y)%+1)
2 (20 —4dy)  ——2— (4o — 8y)

iy =

4 f(z,y) =y (a®+1) —yln(y) +y+ 32°,

202 4+ 202
Gradient is w?+1

In(z2+1)—1Iny

2 Y .
2z +2acx2+1 = 0

(2*+1)—y = 0

Solution is: [z =0,y =1],[zx = -1,y = 2],

4;L'_|_2L_4x2 Y 9_z

Hessian is e (w241)" T2t , determinant: _ya;21+y (423 + 4z + 2y)
T 1
2241 oy
A(z,y) = —yx2—1+y (423 + 4x + 2y)
A(0,1) = -2
A(-1,2)=1

le (l’, y) = 4w + 2:E2?i1 B 41;2 (x23-1)2

Dif(-1,2)=—4



5. dbra:




B csoport

1.
#2
2. arctan (z — y?), Gradient is (z—y?)"+1
oy
(z—y2)*+1
1
3. 2z — y, Gradient is V2i—y
1
222y
_ 1 1
3 3
Hessian is ~ (2z—9)2  2(2z-y)2
1 _ 1
2(22—y) 420y 3

B ) B 25 - In(P+4+1)—lnz
4. f(x,y) =xIn(y* +1)—zln (x)+r+:y°, Gradient is

2y + 2z y;ii-l

, Solution is: [z =2,y = —1],[x =1,y = 0]

1 9_Y
Hessian is yi+ , »determinant: —wygl - (8y° + 8y® + 2x)
T 3
200 25 T8y - 4x(yQyT)2

A(z,y) = — o (8Y° +8y° + 21)

A(2,-1)=3

A(1,0) = -2

5. dbra:
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I <fycfsf‘/ ydw) dy = 37+ 7 — 1

oy (cosy— (y— %)) dy

6. 2 — |z




